Question #0
Theta Ciphering

National Convention 2012
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National Convention 2012
In Reva Junction Florida a child is born on average every 24 minutes and a death occurs every half hour. A citizen moves out of Reva Junction every 1.5 hours, and a new person 
moves into Reva Junction every 4.5 hours. 
How many minutes does it take on the 
average for the population to increase by 
two people? 
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Find the sum of the following series:

 100 + 95 + 90 + … + 10?  
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Determine the value of “n” so that the given condition is satisfied:
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A circle with center at the origin passes 
Through  (-4,3). Find the equation of the 
tangent line at this point. The equation must 
be in Ax + By = C form, where A, B and C 
are relatively prime and A>0.
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Find the area of the triangle enclosed by the horizontal asymptote of:
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in the volumes of these two pieces if the volume of the original pyramid is 250 cubic units?
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